2.3_1 Factoring Quadratic Expressions (Fall 2019)-f19p September 30, 2019

Are there any questions from last day's assigned work you would like to see on the board?

Correct from last day: pp.93-94#2,3,5,6,7a,8,15 _
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P-93 3. Factor, using the greatest common factor.
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8. The formula for the surface area of a cylinder is SA = 277> + 277h.
B A cylinder has a height of 10 units and a radius of 7 units. Determine
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Factoring Warm-up: This part is not on the handout.

a) List all the factors of 12
(This means list all the numbers that divide into 12 with no remainder)
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b) List all the factors of 20 c) List all the factors of 30
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Today's Learning Goal(s):

By the end of the class, | will be able to:
a) factor simple trinomials of the form x2 + bx + ¢

MCF 3MlI

2.3 Factoring Quadratic Expressions

Recall: Factoring expresses a polynomial as a product of polynomials.

(x+2) x+3) = X +5x+6
Factoring

Whenever you are faced with a factoring question, ALWAYS try to Common Factor FIRST
. . . ~( "l
Ex.1 Factor the following trinomials.

9> 2
s Prodacts (S z
a2 +8x+15 ... «b)x2+7x+12 @HCZ_7X+12
2 2 2
= (5 ) VRV 2
2 bvcrsuns (10 )i Pagantn X

! AT
ﬂ@ﬁw@@cﬂwsw‘“@ - /X‘@‘W“%)
:(><+§5(KLY> 5/ :(X+576<H) = (r-)x-3)

| (0

P~ xS

d) x2+6x—-16 5. (o e) x2—3x—10 f) x2—"Txy +12)2

M#&-/g “\é 1{5@ i(;pr;ﬁ(x—%} <(X‘Lf 37%3@
:)(6(’&%8/}(—&\)
= () (ke R) 44

L%

>, 7——(% P

0) 524365 » @) 33 —6 " hywidct7 !
B 2 (4

-3k e~ | L ~3(>(4>(‘2> LﬁD/UF

27 BV B
el a3} o)
=G0 (3x56 ) 7% :E[XQQ:;H@@

e ) e e

=3 (e

is)szz)f;gx)Mo (&0 =25 <45 )
2(0

=20%Laxt) [y =-a(- 5 e 3)

=2 (5 (s

Today's Assigned Practice includes: pp.99-100#2, 3,6,7,9, 14 & READ pp. 101-102
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